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run	
  3871,	
  p0=1.041	
  GeV/c	
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  Cuts	
  

run	
  3871,	
  p0=1.041	
  GeV/c	
  

¥! Also	
  cut	
  on:	
  
Ð!Event	
  type:	
  T1(T3)	
  for	
  RHRS	
  (LHRS)	
  

Ð!Single	
  track	
  events	
  
Ð!Single	
  cluster	
  in	
  VDC	
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¥!	
  Events	
  are	
  sorted	
  into	
  50	
  MeV	
  bins	
  in	
  ν	
  	
  
(ν	
  =	
  E-­‐E’),	
  Asymmetry	
  is	
  calculated	
  for	
  each	
  bin:	
  

¥!	
  	
  Runs	
  are	
  summed	
  together	
  using	
  a	
  weighted	
  average:	
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Method	
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S±	
  is	
  the	
  scaling	
  factor	
  due	
  to	
  
prescales	
  –	
  more	
  on	
  next	
  slide	
  



¥!	
  See	
  ELOG	
  post	
  170	
  for	
  more	
  details	
  

¥!	
  This	
  goes	
  directly	
  into	
  the	
  yield	
  error:	
  	
  	
  	
  	
  

¥!	
  Examples:	
  
¥!	
  run	
  3524:	
  p	
  =	
  2,	
  S+=	
  0.846	
  
¥!	
  run	
  4232:	
  p	
  =	
  9,	
  S+=	
  0.797	
  

Scaling	
  Due	
  to	
  Prescales	
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fP tPb
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f = dilution factor (currently, f = 1)

Pt = target polarization

Pb = beam polarization
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¥!	
  Scaling	
  to	
  physics	
  asymmetry:	
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Scaling	
  to	
  Physics	
  Asymmetry	
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